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96 qr r{eJ KPI (G) 1q t1t.?o frrrFftq 2500 6.93
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98 cr 4Eoqg{ \'trn-€ (R) -rq r-| qq frt{Fffq 5200 r0.94
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trfitfd aT
T|KR'//frqd
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g\'frfr 15500 20.84

3 qT Fd{rsqs fuq ogqt (3r €Kfffi 15500 20.84

4 qr c|Tfl rfrfl (R) .1qtir9c ffiff 36000 31.19

5 qI qq dt dtd (fd) n q In rgcl t}lrrfq r0.93

6 nt Ltqc tqcl U6 -l c]l i rqcl ft+Trrfrq 20500 13.43

7 Hr orqY rr6q cr&*i (16, ncI .I rg.r I ffi,ff 5100 10.69

8 wr litq\ otni (tr) 1q l.ll9.l I ffiff 15100 r4.21

I qT. sfl{rsrs o1 s|a (B) nqrnrqo I f+TFftq 5200 10.94

10 qr ?.+1R sdq (G) n q ri r9rl $vfi,ff 2500 1.7 |

11 qT fFqrr+ di afim cor @ n cr In rgcl ffiq 25500 t7.84
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qRrd dl

ffi/fr.q"ft
sqrqR qr dl ({
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1 er. < r,G {r*e (f*) n cr ln rqq ft{Fn-q 5647 10.9J

2 qr. XftKr { qrc (td) nqrnrqo s(ds 5600 10.69

3 tjl. tlq iqt(I)tt (t6 1q r.I t?cl RlTrrn-q 5200 10.93

4 *ir. q-qq it qd {t6 1cr In r?(l fttTr{frq 2158 6.93

5 +illtl(I) ui \ni (l cD tl6, 1q ti tqct ffi 65000 36.89
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r+qRro vrqrqx qr 6T 31 f{qrqq, zorz co eTMd: rqd .F!l{r Elqr I \v
(d qoq etn cro-gq)
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z. qrRft d qeqq't o) r
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